#define Portinput PORT[A|B|C|D]

#define TRISInput TRIS[A|B|C|D]
#define Pinslnput [set input pins to "1", e.g. all pins in put = OxFF)
#define InitDebounceCount 4 ;# of milliseconds switch needs to be stable

Port_Old RES
Port_New RES
Port_ Changed RES
Debounce_Count RES

N )

( Start ) InitDebouncePort

Set Portinput for MOVLW PinsInput ; pins for input
input MOVWF TRISInput
MOVFF Portinput, Port_Old
e MOVLW PinsInput ; mask ‘zeros'
|n|t|a||ze_ ANDWEF Port_Old, f
Port_Old with Init "holder" bytes CLRF  Port_New
current switch CLRF Port_Changed
status MOVLW InitDebounceCount
MOVWF Debounce_Count

( Return ) RETURN
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#define Portinput
#define TRISInput
#define Pinslnput

Port_Old RES
Port_New RES
Port_ Changed RES
Debounce_Count RES

PORTI[A| B | C | D]
TRIS[A|B|C|D]

[set input pins to "1", e.g. all pins in put = OxFF)
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Read input port
Mask Unused Blts

Save into Port_New

Debounce_Couner

XOR
Port_New with
Port_Old

No
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= Zero?

Yes
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#define InitDebounceCount 4 ;# of milliseconds switch needs to be stable

Assumes entire port is set for input

[ Move Port_New into

Port_Old

|

Move W to
Port_Changed

[ Reset Debol

unce_Count ]4—4

C—> tane

( Return )

Switch_Handler

in Code

ResetDebounce

Return

DebouncePins

MOVFF Portinput, Port_New
MOVLW PinsInput ; mask ‘zeros'
ANDWF Port_New, f

MOVF Port_New, w
XORWEF Port_OlId, w
BTFSC STATUS, Z
GOTO ResetDebounce

DECFSZ Debounce_Count, f

RETURN

MOVFF Port_New, Port_Old

MOVWEF Port_Changed

MOVLW InitDebounceCount
MOVWF Debounce_Count

RETURN
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Interrupt generation
Mask bits that don't generate an interrupt & trigger interrupt
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